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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
‘ 2. Attempt all five questions.
\ 3. Each questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (a) Who is an ‘Assessee’ under the provisions of the Income Tax Act, 19612

(b) Mr. R, an Indian Citizen, left India on 22.09.2015 for the first time to work -
as an officer for a company in Germany
Determine the residential status of Mr. R for the assessment year 2016-17
under the income tax Act, 1961
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(¢) Mr. David, a citizen of India and a Government employee serving in the
Ministry of External Affairs, left India for the first time on 31.03.2015 due
to this transfer for The High Commission of India in Australia. He did not
visit India any time during the previous year 2015-2016. He has received

the following income for the Financial Year 2015-16:

S.No.| Particulars Rs.
(1) Salary v 5,00,000
(i) Foreign Allowance 4,00,000
(111) Interest on fixed deposit from bank in India ; 1,00,000
(iv) | Income from house property in Nepal, received there 2,50,000
(v) Income from Agriculture in Nepal, received there 1,00,000
(vi) | Dividends from SKI Ltd., and Indian Company. 12,000
(vii) | Dividends from an Australian Company, received in Australia 20,000

- Compute his gross total income for Assessment Year 2016-17. » (3345

(%) st s, 1961 & wEuE ® Faia o - FreiRd @i 87

(@) v T R S R, S e w @ e e wd w iy
fesrer 22.09.2015 & B G WRA DI & Y

T AR 1961 B FFER N IR & i Rl w1 o s o
2016-17 ¥ Fifw

() s 3faE, e AmReE ve fadw A ¥ da ged Wl S, gEel |
f=ier 31032015 & S forar o WRA ITANT B ST TARTRIT B & HROT
WRa Biga? W e ad 2015 - 2016 ¥ 97 v o 9R WRaE A€ ) e ad
2015-16 ¥ IR Frafoiaa s ara & 2
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HHIE faawor w
(1) e 5,00,000
(2) faew wen 4,00,000
(3) W foord i & EmEf S W 1,00,000
(4) Aure feua I wwfed ¥ 98 ura s 2,50,000
(5) AT W Y ¥ 98 e s | 1,00,000
(6) WA 0 gE . foRies & U o 12,000 |
(7) v S werh & aE ure e 20,000 |
TR - frufor af 2016 -17 @ o 399 TS w5 F@ F IReaeaT FoAQ
OR

(a) State three instances where the income of the previous year is assessable in
the previous year itself instead of the Assessment Year.

(b) Mr. Ramesh & Mr. Suresh are brothers and they earned the following income
~ during the financial year 2015-16. Mr. Ramesh settled in Canada in the year
1995 and has not visited India since. Mr. Suresh is settled in Delhi and has
never left India. Compute their total income for the assessment year 2016-17.

S. No. Particulars Mr. Ramesh | Mr. Suresh
' (Rs) (Rs)
1. | Interest on Canada Development Bonds (only 35,000 40,000
50% of interest received in India) ‘
2. | Dividend from British company received in 28,000 20,000
London
3. | Profit from a business in Nagpur, but managed 1,00,000 1,40,000
| directly from London
4. | Income from a business in Chennai 80,000 70,000
5. | Fees for technical services rendered in India, but 1,00,000 — ,
received in Canada |-
6. Interest on savings bank deposit in SBI, Delhi 7,000 12,000 '
7. | Agricultural income from a land situated in 55,000 45,000 | A
Andhra Pradesh Pt
8. | Rent received in respect of house property at 1,00,000 60,000 e
Bhopal g
9. | Life insurance premium paid - 30,000 =
(3+8) .

PT.O. |




(@) s o wE e g A e # iR 3R Rl af 2015-16 & WA
| Ereffas s/ SR @ S G A 1995 F e ¥ ¥ T g T F RS
| T8 e ) e g Redh ¥ a@ T F AR Fh ol e & A T T R
frpfeor % 2016-17 & o0 I B HE N ARebe Hifore!

|
| 1 T YA e WU i (VRA A 35,000 40000

Fae 50% ST U fEar W)

2. e ¥ fafew ww e & g 28,000 20,000
5 T ¥ fer e YeE T A @eT A | 1,00,000 1,40,000
4. e foum TR | W A 80,000 70,000.
5. FEE Jat & forg W § e A/ 100,000 |
T freg e ¥ O & mﬁ? | M
| 6. s R &, feeeht 3 ¥ s T 7,000 12,000

O S W U Sl

| 7. Iy W W R wf ¥ e iy s 55,000 45,000

%
» ¢ 8. Auret Rera waw wwafe @ e T 1,00,000 60,000
9. S S s @ A R Tmn | 30,000
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2 Mahesh is a Finance Executive at X Ltd. His Income details are as follows:

Basic salary Rs. 3,00,000 per month
Dearness allowance (forming part of salary) 30% of basic salary
Transport allowance (for commuting between place of residence | Rs. 3,600 per month
and office)

Motor car running and maintenance charges fully paid by | Rs. 40,000

employer

(The motor car is owned and driven by Mahesh. The engine cubic
capacity of car is below 1.60 litres. The motor car is used both for
official and personal purpose by Mahesh) ,

Rent Free Furnished Accommodation provided by the employer in
Delhi.

¢ Costof furniture 1900’000
« Two Air conditioners taken on hire by the employer
and installed in the accommodation. Hire Charges
of each air conditioner is Rs. 2,000 per annum
Expenditure on accommodation in hotels while touring on official | Rs. 30,000

duties met by the employer

Computer (cost Rs. 50,000) provided by the employer to Mahesh | -

from 1.10.2015 -

Interest on saving bank account with PNB Rs. 8,000

I
&
Inerest on post office saving bank Rs. 5,000 ) »
Mahesh made the following payments: '\

Tuition fee paid for 2 children stﬁdying post- Rs. 1,60,000 \
graduation courses at Madras University |

He donated Rs. 50,000/- to government for ST ' i '

promoting families planning

Medical Insurance premium paid: : \
by cash Rs. 5,000 \ =

by cheque Rs. 22,000

- From the above, compute his total income for the Assessment Year 2016-17.

(11)
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Mr. Garg, an employee of PQR Co. Ltd. at Chennai and covered by Payment of
Gratuity Act, 1972, retries at the age of 63 years on 31-12-2015 after completing
34 years and 7 months of service. At the time of retirement, he is entitled for
monthly pension of Rs. 40,000. He gets 80% of pension commuted for Rs.
9,00,000 on 1st February, 2016. His employer also pays Rs. 20,51,640 as
Gratuity and Rs. 6,00,000 as accumulated balance of Recognized Provident fund.

Determine the salary chargeable to tax for Mr. Garg for the Assessment Year

2016-17 with the help of following information.

Rs.

Basic Salary (Rs. 80,000 x 9) 7,20,000 |
72,000

Bonus

Employer contribution towards Recognized Provident Fund | 1,10,000 |

Rent paid by Mr. Garg (Rs. 12,000 x 12) 1,44,000 f
\

House Rent Allowance (Rs. 20,000 x 9) 1,80,000
. .
Professional Tax paid by Mr. Garg . 5,000 N

Note : Salary and Pension falls due on the last day of each month.  (11)

eﬁwmwﬁ,ﬁf@mqémmﬁvmm,mzmmﬁaﬁﬂ#;mﬁ |
fafide & SHwd AT 31-12-2015 & ¥ & 34 9§ TF 7 WER R FS 63 T4 A |
A ¥ dafger A 31 YT @ W 9E T 40,000 F AR U & S #)
T 1 weE, 2016 T E 9,00,000 B By awitiegd Y9 6 80% WM U A B IAH
frdtaaT STEE & ®9 A © 20,561,640 TF Wl O wiaw Ry @ dhm dw @ s A ® 1
6,00,000 T S0t ST gl 21 Fffas ge @ R W aR - i @ 2016 -17 |
g s T @ forg o e A @ Fuifor St

s B

PO,
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T

#e A9 (% 80,000 X 9) 7,20,000
Eler) 72,000
Ay s fafer 2 e @ A 110,000
s TR GRS feRan T R (12,000 X 12) 1,44,000
g faman wea (¥ 20,000 X 9) 1,80,000
ST TR BRI YA TR T e A 5,000

fooqoft: 39 TE Yo TS WE @ siE R ur B 2

3. Dr. Chandha is running a clinic. Compute his total income for the A.Y. 2016-17.
His Income and Expenditure account for the year ending 31st March, 2016 is

given below:

Expenditure Rs. Income REs.
To Staff Salary 430,000 | By Fees Receipts 12,63,600
To Consumables - 8,000 By Dividend from Indian | 15,000
: Companies
To Medicine consumed 3,69,800 | By Winning from Lotteries (Net 28,000
of TDS of Rs.12,000)
To Depreciation 91,000

To Administrative Expenses 1,51,000

To Donation to Prime 5,000
Minister's National Relief
Fund

To Excess of Income over | 2,51,800.
Total 13,06,600 Tetal 13,906,608

Other Information:

(i) Medicines consumed include medicine of (cost) Rs. 25,000 used for his
family.
(ii) Fees receipts include Rs. 20,000 honorarium for valuing medical examination

answer books.

(iiiy He received Rs. 8,000 per month as salary from a City Care Centre. This

has not been included in the ‘Fees Receipt’ credited to Income and

Expenditure Account.
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(iv) He has paid premium of Rs. 45,000 for a LIC Policy on his life, which was
taken on 1.08.2013 (sum assured Rs. 4,00,000).

(v) His has paid Rs. 4,000 for purchase of lottery tickets, which has not been
debited to Income and Expenditure account.

(vi) Depreciation in respect of all assets has been ascertained at Rs. 50,000 as
per Income-tax Rules, 1962
(vii) He deposited Rs. 1,50,000 in PPF. _ y
(viii)Donation of Prime Minister National Relief Fund has been made by way of :
crossed cheque. (11)
=1 wer ve forerfae wen @ ¥ ae - Fufor g 2016 - 17 & fore 39w sma o aRees Ffm
31914, 2016 1 TR A TR I I I I v AR e
g . T .
FHARA & 399 & forw 4,30,000 wig i 12,63,000
Iie wREl & forg 8,000 R FHEE A ar 15,000
I B I
IR Y IR T B e 3,69,800 Hied SiaE ure frar 28,000
T (Fae dsiea. = |
12,000 =) ‘ -
s @ far 91,000 | b
werEfeE @3l @ o 151,000
TUHRA TEF I A T 5,000
o & fog )
g & gerE A suferE 2,51,800
s & forg
@A 13,06,600 ksl 13 ,06,600 o
R TR i
(i) STl & T e X S uRaR @ fore Swdi o T ® 25,000 (F5a) W @
a2 =
| (i) o W F fafwe sl IR R @ TearET F @ e T 20,000 F
WY R 2 :
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(iii) v 8 FwW X | 97 UG WE A9 @ 9 F T 8,000 WA FQ 1 ] I 3K
= @ A B & TR Tow Wi ¥ aftaferd 78 frar w21
(iv) I8 9 SREs W R Sie S femr (LIC) &0t var uiferdl & e © 45 000
& Wit =1 s R 21 g uiferdt ( ﬁmaganﬁmwonos)ﬁ?noazo@saﬁ
foran wmar am

(v) 3= @ed ffwdt o @l & fow = A,QQGWWm%,ﬁr&msﬁtm
@ # e FE 2

(vi) smaeR e, 1962 & SIgER, @ uREufal & weu ¥ YeuEmd & 50,000 Freffia
| forar T 21

| (vii) 3= %1,50,000 e wiasa ffer (PPF) ¥ w/n @awl
(viiil) T T WE HY & o Wi I @ wemw ¥ T R w2

|
j OR
1

(a) During the previous year 2105-16, Renu sells the following capital assets:

Sale Price (Rs.) | Expenses on Transfer

| Land 50,00,000 1%
Gold 51,00,000 Nil
| Listed debentures 8,00,000 1%

Renu inherited the Land from her father who died in 2004-05. Father écquired

{ the land on 1.1.1980 for Rs. 50,000 and its fair market value on 1.4.1981
was Rs. 2,00,000. Renu spent Rs. 1,00,000 on the boundary wall of the
land in the previous year 2007-08.

Gold was purchased on 22.03.2014 for Rs. 48,60,000 and listed debentures
were purchased on 17.03.2010 for Rs. 3,40,000. She invested the entire
sale proceeds of gold and listed debentures in the bonds of NHAI (Tenure
5 years) within 6 months from the date of transfer. She purchased a residential
house property for Rs. 48,00,000 out of the sales proceeds of land on
31.03.2016. Cost inflation index: '
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1981-82 100
2004-05 480
2007-08 551 l !
2008-09 582 TQ
2009-10 © 632 ‘
2014-15 1024
2015-16 1081 |
Compute Renu’s total income and tax liability for the assessment year 2016-17. l ' “
(11) ; |
() fasat af 2105-16 & 2R, Yoy Freefolas gon sfeadl @ I 2 B
l
faa wea () U1 W §Y A |
afi 50,00,000 1% i
ECll 51,00,000 =

|

TaEg feaw 8,00,000 1% !
|

|

W A o fen A favma ¥ o el SRt 2004-05 F I B W) foen A
111980 I & 50,000 ¥ oIf# U F TF 14.1981 Tl I@H I AWK F=4 & 2,00,000 |
on frer @ 2007 - 08 H 307 7 o1 &t AR’ = T A & T 1,00,000 = fET =

AT 22032014 F T 48,60,000 ¥ | TN N R Feleg REIW 17.03.2010 A &
3,40,000 ¥ @A Y A IE A R Theg R Y Wt et sma Y Fo e
& ferwm @ 6 WE @ MR VNG TE TwEE gifueRe ((NHAIL) @
que (5 af @ sEfy) ¥ FEw o o s 9 R sm R 38 3103.2016 A
48,00,000 ¥ @G & T @A

ARG AR Gaehieh ;
1981-82 100 |
|
2004 -05 480 b
|
2007 -08 551 \
T T—
2008 - 09 582 il
2009-10 632 P
2014 -.15 1024
' : \
2015-16 1081 =i

PTO. -
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- B ag 201617 & forg 307 & 9 @ 3R FW A E IRFE HI

4. (a) Explain the provisions of the Income Tax Act, 1961, with regards to clubbing

of income of souse under Section 64.
(b) Explain the provisions relating to set-off and carry forward of business losses.

(c) Mr. Ankit submits the following information regarding his income for the
previous year 2015-16:

Rs.
Gross salary per annum 8,26,000
Cash gift from his employer 30,000
Gift from father’s brother 60,000
Agriculture Income 3,60,000
National Saving Certificates (NSC) purchased on 25.3.2016( 20,000

Compute his taxable income and tax liability for the assessment year 2016-17.
(3+3+5)

(%) W 64 B Fta ufT A TSR AN I F WA F gaw A FEF U, 1961
@ WEUF #i SaRedn Hifore |

(@) R TR ) e vd o & 9 & gy ¥ SEtd a6 e Sl

() ST s e @ 2015-16 & fore sl o @ Feu A Femfifeas S

e E B

®
wfa af wwd da 8,26,000
o e & AHe ITER 30,000
faar & W€ & IER 60,000
=y I 3,60,000
25.3.2016 & @4 forar 1 T g9d yEoTaE (NSC) 20,000

7 - Fuior a¥ 2016-17 & forg 9@ S@E - FA AR - 3GA & IR HIgl

OR
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Mr. A has gifted a house property valued at Rs. 50 lakhs to his wife, Mrs.
B, who in turn has gifted the same to Mrs. C, their daughter-in-law. The
house was let out at Rs. 50,000 per month throughout the year, Compute
total income of Mr. A., Mrs. B and Mrs. C by assuming that their income
from other sources is Rs. 5,60,000, Rs. 6,00,000 and Rs. 7,00,000
respectively.

Mr. Manick is a Sales-tax officer at Jaipur. He owns two residential houses.
The first house is in Delhi and was constructed on 31.12.1991. This has

been let out on a rent of Rs. 30,000 p.m. to a company for its office. The

second house is in Jaipur, which was constructed on 1.3.2015 and has been
occupied by him for his own residence since then. He took a loan of
Rs.9,00,000 on 1.8.2013 @ 8% per annum interest for the purpose of
construction of this house. The entire loan is outstanding.

Other Relevant particulars in respect of these houses are given below:

1st House 2nd House
Rs. Rs.
Municipal valuation | 2,40,000 1,80,000

Municipal taxes 10% of Municipal value | 8% of municipal value

Expenses on repairs | 20,000 60,000

Interest-on Loan - 72,000 |

Municipal Taxes of Jaipur house is unpaid.

Mr. Manick was transferred to Mumbai on 1.12.2015 where he remdes in
a house at a monthly rent of Rs. 40,000, and his house at Jaipur was let out
on the same day on a rent of Rs. 20,000 per month.

Compute the “income from house property” in respect of Mr. Manick for the

assessment year 2016-17. (3+8)

() I A ¥ T 50 oG ed oY WaT-ware JO 9o, A B, T IWERA XL,
o wea ¥ 99 T qEay AR C i Swer ¥ ¥ R 31 wg waw Al W T
50,000 W e W BRIY g far T or, T Gl ¥ IR 3 F: T 5,60,000,
¥ 6,00,000 3 T 7,00,000 AR TY SAA A, R B AR ot C A HeA I
&1 UReper ehaigt
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(@) s i SR # e St ¥ 98 9 A WEAl & W@ 81 el Wad
oot F 2 3l @ FrEior 31121991 1 R T o1 ER TH FTA W FIA Fied
% frw T 30,000 W WE & e W 2 R B @@ waT AR A 2, o
frwior 1.3.2015 &1 AT T A1 AR 99 A I@ WaT W A (G BY IAH FHw_
2| =@ waT @ Mm@ R 182013 F IR 8% U 9 W W W W T
9,00,000 &1 =T foranr wupt O wwE )

o Wad @ way ¥ I R e 9 e g

qEeN HE TE HH
2 ®
TR e @ e | 2,40,000 1,80,000
TR W TR FAm qediET H10% | AR W e @ 8%
HEAT W 20,000 60,000
O WS 72,000

mf@mw%wmﬁaﬁwwﬁmm%z

112.2015 FY SR A Y Has TR AT T oA T € 40,000 A AiE T
® T qEE A @Y, vd 36 R s g E wE 20,000 ¥93 wfe wE fFw
R 3BT A w@r «m

ST AR @ way ¥ @ - Frofor af 2016-17 @ A T @O A o w1 aREe
EaiE ‘ -

5. X and Y are two partners, sharing profits and losses in the ratio of 1:2. The firm

is in the business of manufacturing paints. The profit and loss account of the firm

g
for the year ending 31.03.2016 is as follows: i 1
Rs. Rs.
Salary to staff 2,18.800 Gross Profit 12,00,000 ‘
Depreciation 1,80,000 Long-Term capital gain 1,40,000
Remuneration of pariners: ’ Other business receipts 1,60,000 |
X 3,00,000 i
Y 2,60,000 Smm——
Interest on capital: ' o
X 36,000 oy
Y 25,200 | B
Other expenses 3,70,000 [l
Net profit 1,10.000
15,00,000 15,080,000
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Additional Information:

(i) The firm completed all legal formalities to get the status of ‘firm’.

(i) The firm donated Rs. 80,000 to notified public charitable trust, which is

included in other expenses.

(i) Salary and interest @ 12% p.a. are paid to partners as per the partnership
deed’.

(iv) Depreciation allowable under section 32 is Rs. 80,000.

Compute the taxable income of the firm and partners for the assessment year
2016-17. (11)

X Y, 1:2 3 e 3 ot st rer e et a3 e &1 ek Sz Ror o e
FEEA 21 3103.2016 H W B A a9 B 0 B F I 3N R @ 39 YER 2

£ %

FHARA T Ao 2,18,800 A TH _ 12,00,000
B | 1,80,000 <rafafores o @ 1,40,000
AEER T AR = AR gifeadt 1,60,000
X 3,00,000
Y 2,60,000
qolt W =
X 36,000
Y 25,200 i
I T 3,70,000
g A 1,10,000

15,00,000 15,00,000
Ffaiaa e

() ‘“w o Rl o e @ forg v 3 wh faftr stoeReraTe wof @ 3

(i) w7 sfeERa adafe a6l Tee = ® 80,000 T v, R ww wE @
Feta afFafera forar wmn 21

PTO.
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(i) ATEERY S Wi - Aok’ & SER AT AR 12% Wi a9 E R A S E A
forar i 21
(iv) oW 32 & Jenta T Heas™ & 80,000 21
w2 - fufeor af 2016-17 & @ & G AERR @ - J@ F aREe il

OR
(a) Write short notes on any two of the following:

(i) Difference between “tax treatment of education allowance’ and
‘education facility’ under the Income Tax Act, 1961

(i) Expenditure on scientific research (Section 35)

(i) Exemption of Long Term Capital Gains under Section 54 of Income
Tax Act, 1961

(iv) Deduction under Section 80DD of Income Tax Act 1961, in respect
of medical treatment of disabled dependent.

(b) Explain the significance of the judgment delivered by The Supreme Court of
India in the case of “Shiela Kaushish vs. CIT (1981)” (3+3+5)

() Frfofam ¥ 3 Bl 0 & W AR R R

(i) smaeR sffm, 1961 & siata faen v o = R’ sk ﬁmgﬁm E
9 S FAET |

(i) dsnfF SEUT W A (U 35)
(iii) SR R, 1961 F U/ 54 & Fada s go AW q 2

(iv) 3w @ HfAfHEE, 1961 @ a/T 80DD & Fadta fament sufya & fafdrear Swar
3 waY A e

(@) dien FfEw s W e gad (1981) 9% § WRE & g4t 9Aed g1 @Y Y
fola & wee @t wrEn S

(8200)




